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       M.M: [image: image4.png]80 marks




1. Without actually performing the long division, state whether the following rational numbers will have a terminating decimal expansion or a non-terminating repeating decimal expansion:

(i) [image: image6.png]129
225775




2. Find the roots of the following quadratic equations by factorization; [image: image8.png]100x*-20x +1 =0




3. For what values of k will the following pair of linear equations have infinitely many solutions?

[image: image9.png]kx +3y-(k-3) =10




[image: image10.png]12x + ky-k =0




4. Check whether the first polynomial is a factor of the second polynomial by dividing the second polynomial by the first polynomial: [image: image12.png]


2 [image: image14.png]+3x + 1, 3x



4 [image: image16.png]+5x



3[image: image18.png]- Tx



2[image: image20.png]+2x + 2




5. Determine the AP whose 3rd term is 5 and the 7th term is 9.

6. If [image: image22.png]tan(A + B) =



 [image: image24.png]


 and [image: image26.png]


 [image: image28.png]


 [image: image30.png]


, find[image: image32.png]Aand B



.

7. Prove that in two concentric circles, the chord of the larger circle, which touches the smaller circle, is bisected at the point of contact.
8. The radii of two circles are [image: image34.png]8 cm and 6 cm



 respectively. Find the radius of the circle having area equal to the sum of the areas of the two circles.
9. Given [image: image36.png]15cot A




 find [image: image38.png]sin A and sec A



.

10. Find a point on [image: image40.png]the y — axis



 which is equidistant from the points [image: image42.png]A(6,5) and B(- 4,3).




11. Solve the following pair of linear equations:
[image: image43.png]



[image: image44.png]-378x + 152y = - 604




12. The diagonal of a rectangular field is [image: image46.png]60 meters



more than the shorter side. If the longer side is [image: image48.png]30 meters



 more than the shorter side, find the sides of the field.
13. Find the sum of :

(i) the first [image: image50.png]1000 positive



 integers 

(ii) the first [image: image52.png]n positive



 integers
14. Prove that the ratio of the areas of two similar triangles is equal to the square of the ratio of their corresponding medians.
15. Find a relation between x and y if the points [image: image54.png](x,¥),(1,2) and (7,0)



 are collinear.

16. Find the [image: image56.png]LCM and HCF



 of the following pairs of integers and verify that [image: image58.png]LCM x HCF = product of the two numbers.




(i) [image: image60.png]336 and 54




17. If two zeroes of the polynomial [image: image62.png]


4 [image: image64.png]- 6x



3[image: image66.png]- 26x



2[image: image68.png]+138x - 35are2 £ 43,



 find other zeroes.
18. A boat goes 30 km upstream and [image: image70.png]44 km



 downstream in [image: image72.png]10 hours.



 In [image: image74.png]13 hours,



 it can go [image: image76.png]40 km



 upstream and [image: image78.png]55 km



 down-stream. Determine the speed of the stream and that of the boat in still water.
19. A girl of height [image: image80.png]90 cm



 is walking away from the base of a lamp-post at a speed of [image: image82.png]L2m/s.



 If the lamp is [image: image84.png]3.6m



 above the ground, find the length of her shadow after [image: image86.png]4 seconds



.
20. If [image: image88.png]Q(0,1):



s equidistant from[image: image90.png]P(5,-3) and R(x,6)



, find the values of [image: image92.png]


. Also find the distances QR and PR.
21. Prove the following identity:  [image: image94.png]1+ secBcosect




22. A triangle ABC is drawn to circumscribe a circle of radius 4 cm such that the segments BD and DC into which BC is divided by the point of contact D are of lengths 8 cm and 6 cm respectively (see Fig. 10.14). Find the sides AB and AC.
23. Draw a line segment AB of [image: image96.png]length 8 cm,



 Taking A as centre, draw a circle of radius [image: image98.png]


 cm and taking B as centre, draw another circle of radius [image: image100.png]


 cm. Construct tangents to each circle from the centre of the other circle.
24. A box contains 90 discs which are numbered from [image: image102.png]1to 90.



 If one disc is drawn at random from the box, find the probability that it bears: 
[image: image103.png](D)a two — digit number




[image: image104.png]lil)a perfect square number




[image: image105.png](111) @ number divisible by 5.




25. A round table cover has six equal designs as shown If the radius of the cover is 28 cm, find the cost of making the designs at the rate of [image: image107.png]Rs 0.35 per cm*



 (Use [image: image109.png]17



)

26. State Thales’s theorm & prove it

[image: image111.png]DE || AC and DF || AE.



 Prove that[image: image113.png]BF _ BE




27. A 1.5 m tall boy is standing at some distance from a 30 m tall building. The angle of elevation from his eyes to the top of the building increases from 30° to 60° as he walks towards the building. Find the distance he walked towards the building.
28. The median of the following data is 525. Find the values of x and y, if the total frequency is 100.





	[image: image114.png]Class interval




	[image: image115.png]Frequency





	[image: image116.png]— 100





	[image: image117.png]




	[image: image118.png]100 — 200




	[image: image119.png]




	[image: image120.png]200 — 300




	[image: image121.png]




	[image: image122.png]300 — 400




	[image: image123.png]12





	[image: image124.png]400 — 500




	[image: image125.png]17





	[image: image126.png]500 — 600




	[image: image127.png]20





	[image: image128.png]600 — 700




	[image: image129.png]




	[image: image130.png]700 — 800




	[image: image131.png]




	[image: image132.png]800 — 900




	[image: image133.png]




	[image: image134.png]900 — 1000




	[image: image135.png]





29. Hanumappa and his wife Gangamma is busy making jaggery out of sugarcane juice. They have processed the sugarcane juice to make the molasses, which is poured into moulds in the shape of a frustum of a cone having the diameters of its two circular faces as 30 cm and 35 cm and the vertical height of the mould is 14 cm If each cm3 of molasses has mass about 1.2 g, find the mass of the molasses that can be poured into each mould. Take[image: image137.png]


.
30. A cottage industry produces a certain number of pottery articles in a day. It was observed on a particular day that the cost of production of each article (in rupees) was 3 more than twice the number of articles produced on that day. If the total cost of production on that day was Rs 90, find the number of articles produced and the cost of each article.
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